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Section : Part-A-General Intelligence and Reasoning

Q1 Select the figure from among the given options that can replace the question mark
(?) in the following series.
[
Ans
X 1.
—
o 2.
—
X 3.
=7
X 4
—

Question ID : 26433080498
Status : Answered
Chosen Option : 2

Q.2 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word)

2D : Triangle :: 3D :

Ans X 1.Square
X 2. Rectangle
< 3. Figure
" 4. Hemisphere

Question ID : 26433082658
Status : Answered
Chosen Option : 4




Q.3 Which two signs should be interchanged to make the below equation mathematically

correct?
63+3%x21-15+12=6

Ans X 1.—and+

o 2.+ and x
&K 3.xand -
X 4. +and -

Question ID : 264330117547
Status : Answered
Chosen Option : 2

Q.4 Six people M, N, O, P, Q and R are sitting in a straight row, facing north. O is sitting to
the immediate right of N. P is sitting to the immediate right of O. Q is sitting to the
immediate right of P. R is sitting to the immediate left of N. If there are only five people
sitting to the right of M, who is at the extreme right end of the row?

Ans 1.Q
X 2.R
K 3P
X 4.N

Question ID : 26433069154
Status : Answered
Chosen Option : 1

Q.5 Three statements are given followed by two conclusions numbered 1 and 2. Assuming
the statements to be true, even if they seem to be at variance with commonly known
facts, decide which of the conclusions logically follow(s) from the statements.
Statements:

No red is black.

All blues are black.
No blue is pink.
Conclusions:

1. No blue is red.
2. No red is pink.

Ans X 1. Neither conclusion 1 nor 2 follows
% 2. Both conclusions 1 and 2 follow
& 3. Only conclusion 1 follows

75 4. Only conclusion 2 follows

Question ID : 26433087133
Status : Answered
Chosen Option : 3




Q.6 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of

consonants/vowels in the word.)
Gardener : Harrow :: Farmer : ?

Ans  # 1. Plough
< 2. Water
< 3. Seed
< 4. Land

Question ID : 26433067366
Status : Answered
Chosen Option : 1

Q.7 ‘A + B’means ‘A s the brother of B’
‘A — B’ means ‘A is the mother of B’
‘A x B’ means ‘A is the husband of B’
‘A + B’ means ‘A is the sister of B’
IfBxD=+F-H+J+S, then which of the following statements is NOT correct?

Ans  # 1.His the son of D.
< 2. Jis the sister of H.
/X 3.Fis the sister of D.
75 4.Bis the husband of the sister of F.

Question ID : 26433082636
Status : Answered
Chosen Option : 1

Q.8 Which letter-cluster will replace the question mark (?) to complete the given series?
XERJ, THPK, ?, LNLM, HQJN

Ans X 1.RKNM
o 2. PKNL
X 3.SLKM
% 4. QKLN

Question ID : 26433068578
Status : Answered
Chosen Option : 2




Q.9 A paper is folded and cut as shown below. How will it appear when unfolded?

l I+

[0 [+
X1

+|c

40|34
2

+|c+

+[ I+
~< 3

C 1+ |C+

(4104
X 4.

CH-(C3v

Question ID : 26433089783
Status : Answered
Chosen Option : 2

Q.10 Which of the following interchange of numbers(not digits) would make the given
equation correct?
15+5%x12+6=65-35

Ans X 1.515
o 2.6, 12
X 3.5 35
X 4.12,65

Question ID : 26433087049
Status : Answered
Chosen Option : 2




A1 olect the option in which the given figure is embedded (rotation is NOT allowed).

Ans

X1

Question ID : 26433076717
Status : Answered
Chosen Option : 4

Q.12 In a code language, ‘fast track him’ is coded as ‘le pa da’, ‘we give fast’ is coded as ‘da
jo he’, ‘track my order’ is coded as ‘vu ba le’. What is the code for the word ‘him’?

Ans  # 1.pa
X 2.jo
X 3.de
X 4.le

Question ID : 26433086984
Status : Answered
Chosen Option : 1




Q.13 Select the correct mirror image of the given figure when the mirror is placed at MIN as shown below,

M

tOgeTHer

N

~ AarTogo?
- 19HT93013
~19HTag0?
~AafdTagoT

Ans

Question ID : 26433085557
Status : Answered
Chosen Option : 2

Q.14 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
1:36::2:49::4:7

Ans X 1.82
o 2. 81
X 3.9
X 4.93

Question ID : 26433069413
Status : Answered
Chosen Option : 2

Q.15 Which of the following numbers will replace the question mark (?) in the given series?
98, 93, 89, ?, 84

Ans X 1.90
X 2.87

o 3.86
X 4.85

Question ID : 26433085349
Status : Answered
Chosen Option : 3




Q.16 Which option represents the correct order of the given words as they would appear in
the English dictionary?

1. track

2. trace

3. trade

4. treasure

5. triangle

Ans X 1.3,2145
o 2.2,1,34,5
X 3.23154
X 4.341.25

Question ID : 26433069321
Status : Answered
Chosen Option : 2

Q.17 Kirti, Suman, Shubh, Kanak, Pari, Charu, Shlok and Shivi are sitting around a square
table facing the centre of the table. Some of them are sitting at the corners, while some
are sitting at the exact centre of the sides. Kirti sits third to the left of Shubh. Kirti sits
at one of the corners. Kanak sits second to the right of Pari. Pari does not sit at any of
the corners. Pari is not an immediate neighbour of Kirti. Suman is an immediate
neighbour of Charu. Suman does not sit at any of the middle of the sides. Only three
people sit between Suman and Shlok from either sides.

Who does NOT sit at any of the corners?

Ans 1. Charu
< 2. Kirti
X 3. Shlok
< 4. Shivi

Question ID : 26433082289
Status : Answered
Chosen Option : 1

Q.18 Which of the following numbers will replace the question mark (?) in the given series?
5,7,12, 21, 35, 55, ?

Ans X 1.69
X272

o 3.82
X 4.65

Question ID : 26433082006
Status : Answered
Chosen Option : 3

Q.19 Which of the following letter-clusters will replace the question mark (?) in the given

series?
BVFY, FRJU, JNNQ, ?, RFVI

Ans o 1. NJRM
< 2. NKRN
< 3. MJQMm
< 4.NJQM

Question ID : 26433076451
Status : Answered
Chosen Option : 1




Q.20 In a certain code language, ‘CLOAKED’ is written as ‘39’and ‘FLANK’ is written as
‘32’.How will ‘FLOCKED’ be written in that language?

Ans X 1.42
X 2.46
W 3. 44
X 4.48

Question ID : 26433069473
Status : Answered
Chosen Option : 3

Section : Part-B-General Knowledge and General awareness

Q.1 The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA)
Government of India, comes under the flagship of

Ans X 1. Ministry of Social Justice and Empowerment
< 2. Ministry of Health and Family Welfare
#< 3. Ministry of Housing and Urban Affairs

& 4. Ministry of Rural Development

Question ID : 264330116219
Status : Answered
Chosen Option : 1

Q.2 Which article of the Indian Constitution provides for right to education?
Ans X 1.23

X 2.22
o 3.21A

% 4.20

Question ID : 264330115635
Status : Answered
Chosen Option : 3

Q.3 Which dynasty ruled over Delhi during 1290 to 1320?
Ans X 1.Tughluq

o 2. Khalji
X 3. Lodi
X 4. Sayyid

Question ID : 26433085224
Status : Answered
Chosen Option : 2




Q.4 Sangeet Natak Akademi Fellow ( Akademi Ratna) has been awarded to

Ans 1. Jatin Goswami
#< 2. Anita Sharma
< 3. Manik Barbayan

#5 4. Tankeswar Hazarika Borbayan

Question ID : 264330115873
Status : Answered
Chosen Option : 4

Q.5 Which among the following is an “S” shaped ocean?
Ans X 1.Indian Ocean

X 2. Arctic Ocean
< 3. Pacific Ocean
" 4. Atlantic Ocean

Question ID : 264330116005
Status : Answered
Chosen Option : 4

Q.6 The Sport Jallikattu belongs to which Country?
Ans X 1. Nepal

5 2. Spain
< 3.Rome
& 4. India

Question ID : 264330116287
Status : Answered
Chosen Option : 4

Q.7 What is the minimum age required to be appointed as the Governor of State?
Ans o 1.35years

X 2.25 years
/5 3.30years
X 4.27 years

Question ID : 26433074912
Status : Answered
Chosen Option : 1




Q.8 The Green Revolution in India was initiated in the 1960s by introducing high-yielding
varieties of

Ans X 1.jowar and maize
& 2. rice and wheat
< 3. millet and jute
75 4. jute and cotton

Question ID : 264330116153
Status : Answered
Chosen Option : 2

Q.9 Which Union Minister of India inaugurated largest South Asian film market-Film Bazaar
in November 20227

Ans X 1. Smriti Irani
75 2. Nirmala Sitharaman
& 3. Anurag Singh Thakur
75 4. Gajendra Singh Shekhawat

Question ID : 264330114952
Status : Answered
Chosen Option : 3

Q.10 oy T fig vai & Frafifee & § fra w & 9 e @ g @t 32
Ans X 1. FIfd®

X 2. 79
o 3. YISUS
X 4.3

Question ID : 26433094887
Status : Answered
Chosen Option : 3

Q.11 How is the distribution of species done in stratification?
Ans X 1.centrally

75 2. diagonally
o 3. vertically
5 4. horizontally

Question ID : 264330115249
Status : Answered
Chosen Option : 3




Q.12 Koli is the folk dance of which of the following Indian states?
Ans & 1. Maharashtra

< 2. Jharkhand
75 3. West Bengal
< 4. Tamil Nadu

Question ID : 26433086712
Status : Answered
Chosen Option : 2

Q.13 Who introduced the concept of poverty line in pre-independent India?
Ans X 1. Manabendra Nath Roy

< 2. Amartya Sen
&* 3. Dadabhai Naoroji

X 4. Mysore Narasimhachar Srinivas

Question ID : 264330116073
Status : Answered
Chosen Option : 3

Q.14 Which of the following element has atomic number 12?
Ans X 1.Ca

X 20
X 3.He
" 4. Mg

Question ID : 264330115171
Status : Answered
Chosen Option : 1

Q.15 What is the last step in the process of manufacturing of steel?
Ans X 1. production of liquid steel

75 2. heating limestone, coke and iron in a blast furnace
& 3. shaping of steel
#< 4. production of pig iron

Question ID : 264330115581
Status : Answered
Chosen Option : 2

Q.16 Who became the foreign secretary of India in May 20227
Ans 4 1. Vinay Mohan Kwatra

#5 2. Subrahmanyam Jaishankar
X 3. Yashwant Sinha
#< 4. Harsh Vardhan Shringla

Question ID : 264330115037
Status : Answered
Chosen Option : 1




Q.17 How many players on each side are allowed on the field at a time in the game of
Volleyball?
Ans 1.6

X 2.8
X 3.7
X 4.5

Question ID : 264330115932
Status : Answered

Chosen Option : 1

Q.18 Bahadur Shah Zafar and his sons were arrested by the British officials from
in Delhi.

Ans & 1. Humayun’s Tomb
< 2. Safdarjung’s Tomb
< 3. Jama Masjid

4. Red Fort

Question ID : 26433089894
Status : Answered
Chosen Option : 4

Q.19 Father of Green Revolution in the world is :
Ans " 1. Norman Borlaug

75 2. Adam Smith
< 3. Jawahar Lal Nehru
75 4. Kourien

Question ID : 264330115414
Status : Answered

Chosen Option : 1

country's __ activity in a given time period.
Ans  # 1. economic
75 2. chemical
75 3. democratic
< 4. medical

Q.20 National income accounting is a bookkeeping system to measure the level of the

Question ID : 264330115334
Status : Answered
Chosen Option : 1

Section : Part-C-Elementary Mathematics




Q.1 A man's weekly wage was Rs. 1200, but now he earns Rs. 1800. What is the percent
increase in the man's wage?

Ans X 1.20 percent
25 2. 80 percent
& 3. 50 percent
75 4. 30 percent

Question ID : 264330116823
Status : Answered
Chosen Option : 3

Q.2 Three cubes, each of side 5 cm, are joined end to end. What is the total surface area of
the resulting cuboid?

Ans X" 1.325cm?
X 2.375 cm?
o 3. 350 cm?
X 4.380 cm?

Question ID : 26433066368
Status : Answered
Chosen Option : 3

Q.3 Akhil, Sahil and Amit can do a certain work in 64 days. While Akhil and Sahil can do
the same work in 80 days, then in how many days can Amit do the same work?

Ans X 1.330 days
# 2. 320 days
/< 3.340 days
75 4.380 days

Question ID : 264330116903
Status : Answered
Chosen Option : 2

Q.4 Which of the following is NOT correct?
Ans ' 1.13-7+8x9+63+9=288

X 2.8x3+63+9-6=25
X 3.42+6+(2x5)x1+9=26
X 4.9x4+(12+2)-30+3=40

Question ID : 26433076091
Status : Answered
Chosen Option : 1




Q.5 Mohan and Sohan started running from the points P and Q at the same time towards
each other. The speeds of Mohan and Sohan are 24km/h and 18km/h respectively. If
they meet after 10 min, then what is the distance between P and Q?

Ans X 1.9km
% 2.10 km
X 3.8km
o 4.7 km

Question ID : 26433075698
Status : Answered
Chosen Option : 4

Q.6 Three solid cubes of sides 8 cm, 1 cm, and 6 cm, respectively, are melted to form a
new cube. Find the longest diagonal of the new cube.

Ans ¢ 1. 943cm
X 2. wzcm
X3 ?\fgcm

X 4. T\ﬁ-::m

Question ID : 26433083063
Status : Answered
Chosen Option : 1

Q.7 Samantha takes 3 hours to travel from place X to place Y at a speed of 75 miles per
hour. She takes 2 hours to travel from place Y to Z with 30% increased speed. Find her

average speed during the entire journey.
Ans " 1. 84 miles per hour

75 2. 65 miles per hour
75 3. 72 miles per hour
< 4. 90 miles per hour

Question ID : 26433081551
Status : Answered
Chosen Option : 1

Q.8 Ifa:bis4:6andb:cis10:11,thenc:ais:
Ans X 1.33:21

X 2.21:33
& 3.33:20
% 4.20:33

Question ID : 26433076305
Status : Answered
Chosen Option : 3




Q.9 The present population of a city is 92,61,000. If it has been increasing at the rate of 5%
per annum, find its population 3 years ago.

Ans X 1.60,00,000
¥ 2.80,00,000
75 3.40,00,000
#< 4.20,00,000

Question ID : 26433073131
Status : Answered
Chosen Option : 2

Q.10 A retailer announces a discount of 40% for selling a food processor marked at ¥86,000.
The cost price of the food processor is 60% below the marked price. He offers a
further discount of 10% if the buyer presents his membership card of the retailer’s
store. The profit of the retailer with the membership card scheme is what percentage
of the profit of the retailer without the membership card scheme?

Ans  # 1.70%
X 2.67%
< 3.82%
X 4.73%

Question ID : 26433061892
Status : Answered
Chosen Option : 1

Q.11 The ratio of money with Jack and John is 7 : 13, and that with John and Jonas is 9 : 11.
If Jack has ¥6,300, then how much money does Jonas have?

Ans 1. 214,100
X 2. 214,500
X 3. 214,200
v 4 14,300

Question ID : 26433080175
Status : Answered
Chosen Option : 4

Q.12 After a certain time period, a sum of Rs.24,000 invested in a bank will amount to
Rs.26,460 when the compound rate of interest is 5% p.a., being compounded annually.
In how many months will it amount to Rs.26,4607?

Ans X 1.12
X 2.30

o 3.24
X 4.36

Question ID : 26433075073
Status : Answered
Chosen Option : 3




Q.13 The HCF of two numbers is 24 and their LCM is 2400. If one of the numbers is 180,
then the other number is:

Ans X 1.334
o 2. 320
/< 3.336
X 4.338

Question ID : 26433082351
Status : Answered
Chosen Option : 2

Q.14 An article marked at ¥2,000 is sold with two successive discounts of 20% and 10%.
Find the selling price.

Ans X 1. 21,640
X2 %1,540
X 3. %1,240

v 4. 31,440

Question ID : 26433082613
Status : Answered
Chosen Option : 4

Q.15 Two trains, starting at the same time from two stations 100 km apart are travelling

towards each other and they cross each other at a distance of 70 km from one of the
stations. What is the ratio of their speeds?

Ans X 1.3:4
X 24:5
#3.7:3
X 4.5:7

Question ID : 26433073037
Status : Answered
Chosen Option : 3

Q.16 A dealer buys 50 chairs for 50,000 but 20 of them are damaged. He decides to sell
each of the damaged chair at 3/4th of the selling price of normal chair. What should be

the selling price of normal chair so that he may make a profit of 35% on the whole
transaction?

Ans X 1. 1,125
25 2. 35,000
X 3. 36,750
o 4.%1,500

Question ID : 26433075879
Status : Answered
Chosen Option : 4




Q.17 The population of a village reduced from 15,750 to 14,490 because of the outbreak of
the Covid-19 pandemic. What is the percentage decrease in the population of that

village?

Ans X 1.9%
o 2.8%
X 3.7%
X 4.6%

Question ID : 26433080291
Status : Answered
Chosen Option : 2

Q18 A dealer professes to sell his goods at cost price. If by using false weights he
gains 5 % %, then find the error in weight of 1 kg.

Ans 4 1.50¢
X 2.55¢g
X 3.45¢g
X 4.60g

Question ID : 26433081567
Status : Answered
Chosen Option : 1

Q.19 Ais twice as efficient as B and takes 45 days less than B to complete a job. Find the
number of days in which they can finish the job together.

Ans X 1.32
X 2.36
W 3.30
X 4.38

Question ID : 26433075396
Status : Answered
Chosen Option : 3

Q.20 Anand covers a distance of 20 km at the speed of 4 km/h and he covers remaining
distance at the speed of 5 km/h in 5 hours. What is the average speed (in km/h) of

Anand for the whole journey?

Ans # 1.45
X 25
X 3.4
X447

Question ID : 26433082501
Status : Answered
Chosen Option : 1

Section : Part-D-English




Q.1 Select the most appropriate meaning of the given idiom.
Raining cats and dogs

Ans  # 1. Avery heavy downpour

75 2. To escape from the situation

/X 3. Cats and dogs getting wet in rain

< 4. At the exact time

Question ID : 26433073709
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate synonym of the given word.
Anger
Ans X 1. Delight
o 2. Fury
X 3. Frenzy
< 4. Dismay

Question ID : 26433086370
Status : Answered
Chosen Option : 2

Q.3 Identify the correctly spelt sentence.
Ans X 1. My favourite subject is Mathimatics.

75 2. My favourite subject is Mathematecs.
#< 3. My favourite subject is Mathematiks.

¥ 4. My favourite subject is Mathematics.

Question ID : 26433072835
Status : Answered
Chosen Option : 4

Q.4 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Dowry completely violates women's rights and denies them similar opportunities in
society.

Ans  # 1. an equal standing
X 2. an appropriate desire
#< 3. an increasing honour

#< 4. an accurate place

Question ID : 26433089833
Status : Answered
Chosen Option : 3




Q.5 Select the most appropriate synonym of the word given below to fill in the blank in the
following sentence.

Imminent
The king was changing his hiding place every now and then because of danger
to his life.

Ans X 1.happening
¥ 2. approaching
7< 3. participating
X 4. losing

Question ID : 26433084778
Status : Answered
Chosen Option : 2

Q.6 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

She comes from an illustrios political family.
Ans o 1. lllustrious

#2< 2. llustreous
75 3. lllustreous
< 4. llustrious

Question ID : 26433073552
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate ANTONYM of the given word.

Austere
Ans X 1.Affordable

X 2. stiff
X 3. Gruff
& 4. Genial

Question ID : 26433088323
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate synonym of the underlined word in the given sentence.

It is of paramount importance that you read the instructions before attempting the test.
Ans X 1.Remind

75 2. Rephrase
< 3. Rehearse
" 4. Central

Question ID : 26433087920
Status : Answered
Chosen Option : 4




Q.9 Select the most appropriate ANTONYM of the given word.
Scintillating

Ans 1. Dark
75 2. Wonderful

#< 3. Bright
< 4. Amazing

Question ID : 26433086490
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate meaning of the given idiom.
Level playing field
Ans X 1.Avoiding differences
75 2. Lack of intelligence
75 3. Forgetting conflicts
¥ 4. Afair competition

Question ID : 26433073719
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate option to fill in the blank.

Anne’s eye is very good for someone of her age.

Ans o 1. sight

X 2. cite
75 3. side

X 4. site

Question ID : 26433090395
Status : Answered
Chosen Option : 4

Q.12 Choose the sentence that is in simple past tense.
A. My uncle broke his promise to keep up with the trend of being healthy.
B. My uncle had been breaking his promise to keep up with the trend of being healthy.
C. My uncle had broken his promise to keep up with the trend of being healthy.
D. My uncle was breaking his promise to keep up with the trend of being healthy.

Ans X 1.B
X 2D
& 3.A
X acC

Question ID : 26433096222
Status : Answered
Chosen Option : 3




Q.13 Select the most appropriate option to fill in the blank.

You might be wrong, you can’t always be
Ans X 1.rite

o 2. right
< 3. write
X 4. riot

Question ID : 26433084615
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence.
The lizard moves from one whole to another and eats insects hidden in the hole.

Ans X 1. moves from one whole to another and eat
X 2. moves from one to another and eats
& 3. moves from one hole to another and eats

#< 4. moves from one hole to another but eats

Question ID : 264330100292
Status : Answered
Chosen Option : 3

Q.15 Select the option that can be used as a one-word substitute for the given group of
words.

A perfect society in which people work well with each other and are happy
Ans X 1.Galaland

< 2. Dystopia
75 3. Homeland
o 4. Utopia

Question ID : 26433089377
Status : Answered
Chosen Option : 4




Q.16
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Cancer is a disease in which some of the body’s cells grow (1) and spread to other
parts of the body. Cancer can start (2) anywhere in the human body, which is made up
of trillions of cells. Normally, human cells grow and multiply (through a process called cell
division) to (3) new cells as the body needs them. When cells grow old or become
damaged, they die, and new cells take their place. Sometimes, this orderly process

(4) down, and abnormal or damaged cells grow and multiply when they shouldn’t.
These cells may form tumours, which are lumps of tissue. Tumours can be cancerous or

6 .

SubQuestion No : 16
Select the most appropriate option to fill in blank 1.

& 1. uncontrollably
< 2. inadequately
75 3. unwontedly

X 4. inversely

Question ID : 26433090513
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Cancer is a disease in which some of the body’s cells grow (1) and spread to other
parts of the body. Cancer can start (2) anywhere in the human body, which is made up
of trillions of cells. Normally, human cells grow and multiply (through a process called cell
division) to (3) new cells as the body needs them. When cells grow old or become
damaged, they die, and new cells take their place. Sometimes, this orderly process

(4) down, and abnormal or damaged cells grow and multiply when they shouldn't.
These cells may form tumours, which are lumps of tissue. Tumours can be cancerous or

G ____.
SubQuestion No : 17

Q.17 Select the most appropriate option to fill in blank 2.

Ans

¥ 1. almost
X 2. just

X 3. barely
< 4. simply

Question ID : 26433090514
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Cancer is a disease in which some of the body’s cells grow (1) and spread to other
parts of the body. Cancer can start (2) anywhere in the human body, which is made up
of trillions of cells. Normally, human cells grow and multiply (through a process called cell
division) to (3) new cells as the body needs them. When cells grow old or become
damaged, they die, and new cells take their place. Sometimes, this orderly process

(4) down, and abnormal or damaged cells grow and multiply when they shouldn’t.
These cells may form tumours, which are lumps of tissue. Tumours can be cancerous or

6 .

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank 3.
Ans X 1.shape

25 2. build
o 3. form
& 4. formulate

Question ID : 26433090515
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Cancer is a disease in which some of the body’s cells grow (1) and spread to other
parts of the body. Cancer can start (2) anywhere in the human body, which is made up
of trillions of cells. Normally, human cells grow and multiply (through a process called cell
division) to (3) new cells as the body needs them. When cells grow old or become
damaged, they die, and new cells take their place. Sometimes, this orderly process

(4) down, and abnormal or damaged cells grow and multiply when they shouldn't.
These cells may form tumours, which are lumps of tissue. Tumours can be cancerous or

6 .

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank 4.
Ans  # 1. breaks

X 2. slows
< 3. powers
< 4. blows

Question ID : 26433090516
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Cancer is a disease in which some of the body’s cells grow (1) and spread to other
parts of the body. Cancer can start (2) anywhere in the human body, which is made up
of trillions of cells. Normally, human cells grow and multiply (through a process called cell
division) to (3) new cells as the body needs them. When cells grow old or become
damaged, they die, and new cells take their place. Sometimes, this orderly process

(4) down, and abnormal or damaged cells grow and multiply when they shouldn’t.
These cells may form tumours, which are lumps of tissue. Tumours can be cancerous or

6 .

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank 5.
Ans " 1.benign

5 2. benevolent
< 3. malignant
X 4. mild

Question ID : 26433090517
Status : Answered
Chosen Option : 3

Section : Part-D-Hindi

Q1 fmfafs o A YEifed W & ey e &1 7ahT w3 Rad e a1 il $iforg)
gfe AR IR R AT eI A a8 BT SR Td1 8

Ans X 1. 3[UHM
2. 334t
o 3. 3faAfd
X 4. 8

Question ID : 26433091343
Status : Not Answered
Chosen Option : --

Q.2 ?ﬂﬁqma?msﬁamﬁqwﬁﬂﬁﬁﬁﬁﬁﬁm

Ans 2 1 forgeT I Sfat gRT B 9
X 2. T BT IR arell
X 3. foreeT I el gR1 7 81 9
X 4. SN TT S Y FAdT §

Question ID : 26433079209
Status : Not Answered
Chosen Option : --




Q.3 g are | e UgaHIR IR IS BT
TR A BTH HY d THadr @<y fAerdt 21

Ans o 1. TS Y HTH HA F e ey firerh 31
X 2. IGR §hX HTH H T I 3y fAaa B
X 3. TS Y FH P J Ihd Ay fAear g1
X 4. 930 A B B A THAdT T e B

Question ID : 26433063028
Status : Not Answered
Chosen Option : --

Q.4 wﬁﬁqwmmﬁﬁam%?wmwmmﬁmw%?

Ans X 1. AAH R ER W M
X 2. TR R ER R A g
o 3. T TR gR W 3 g
X 4. TR IE I QOi B

Question ID : 26433091217
Status : Not Answered
Chosen Option : --

Q5 g d A PH-A1 Ueg WP BT qafgarh 7t 22
Ans X 1. 33E

X 2. gt

o 3. GUgT

X 4. SHYA

Question ID : 26433066897
Status : Not Answered
Chosen Option : --

Q.6 fufafad ol ot Frad H a1 YeTa¥ &1 99+ fawea & J Sifvm)
g G Ml
Ans o 1. I SIS ST
X 2. g W% T T
< 3. TG BT ST
X 4.9 ¥ foder o

Question ID : 26433070014
Status : Not Answered
Chosen Option : --




Q.7 “RIET BT YT HIT g1 21’ 39 a1 § o I &Y gff Sugea areg-ws gri

oI
Ans X 1.9 ¥ Hu e

o 2. AT gl
X 3. AT
X 4T RA R

Question ID : 26433080895
Status : Not Answered
Chosen Option : --

Q.8 T U AUR § 9gd ATH 3T
IR 9T § I@iThd Weg P A e BT I fapedl § § BIFME|

Ans X' 1. X
& 2. Braal
& 3. dalal
o 4@

Question ID : 26433079745
Status : Not Answered
Chosen Option : --

Q.9 frufefad areaiw & R arde s wam g2
<Y safed g Y a1 e @

Ans }(1_§1.rrlsﬂ
X 2.qxdm
o 3. gt
X 4.qwR

Question ID : 26433069984
Status : Not Answered
Chosen Option : --

Q.10 g 7T ari & fog A e FaTsUl

N BT A ot TRIAT B)
Ans 1 HIER

X 2. 91
X 3. P
X 4. FIOIR

Question ID : 26433062590
Status : Not Answered
Chosen Option : --




Q.11 Fmfafed geray & Suged o 1 99+ fawedl & 9 TR
ufSrat ST
Ans X 1. Td B ST
X 2. T Bl
o 3. 78 - YE B
X 4. DI HAT

Question ID : 26433070001
Status : Not Answered
Chosen Option : --

Q.12 ProfafEd are & fva T # IS 22
IAD! =P T THT B 3R At

Ans X 1. g}
X 2. 3Pt
3.3
X 4. 3BT

Question ID : 26433066772
Status : Not Answered
Chosen Option : --

Q.13 fFfafed & @ Ys TR S AT R?
Ans o 1. TRl T ST B B

X 2. BTe T 3T BN B
X 3. BTl M 3= B B |
X 4. BT 33T B B

Question ID : 26433066834
Status : Not Answered
Chosen Option : --

Q.14 qUE 3 9gd auA v g8 RS v 1 2
I P IGiThd Weg P T W HIGIIP G311 s BITI-

Ans X' 1.duq
X 2. quy@
& 3. U
X 4. qUeq

Question ID : 26433062855
Status : Not Answered
Chosen Option : --




Q.15 @1 ¥ die-t ® i1 fagR &1 8mHg a 33 31

Ans

IR I § I@iTpd Weg F W W Falf<Id Ueg BT 90 fabedl # A P
X 1. g7
X 2.3=M
X 3. Uit
o 4. 4ad

Question ID : 26433065692
Status : Not Answered
Chosen Option : --

Comprehension:

+Ia U@ T Uy T 1-5 & IR AT T TRIi=1 & SR TR o

fag=T el a1 gERl Y WTwTSH B U U Ul STUFT APHINT 7R (1) &1 3 i
TGP & | U1 HTV H g Sierell ¢, T/ A B1 HHdl, AP Aeft b1 w1 3R 30 Bl
SFH-UgTH &1 TR I8l & | 3O HTST & U1 8al g | 39 fore g+ fa=iy & 78t n
ysal, Af o1 (2) 3R gHg @ Fafd el B usdt | B guRt ArguTT 81 3ufere su%
Wﬁ%ﬁﬁlﬁ:ﬁwéﬁ?ﬁﬁ%ﬂwﬁﬂ%% ot T SR gfaem &7 iy faesft
yroraff 7 e 81Tl BRI I8 § P fEd 51 R - arer 3t oe ad €, 52 ° &9 o 1 | At
Traa €, fordt (3) 1o & et | SHIONT WIS B8R RE I e o1 Hremw Bt 8, =R 9% 3
Tt wToT Y 18 81 1 Ha FRITRY B | TR GH Bl [de=t HTHT WRId & dl ST AIqUIST &
a1 A € 3T 3fd W fralt ekt TRt g€ W 1 Siard 8, dl ATgHTST H 7§ o g9 e
g a4 I ¥ SUOT S f371 5 <8 e} Il | T8 AR &M Sfta & wry
(5) &1 O1Y — g H UI Yefl 81l § 341 d¥e AIGHIST H i gART Hi T PR, IHPT AR
3R BT €1 37: 37O HIT TR § 1 HTWI3T & g H T &7 T Sall R 81 T8 HROT
B 5 it v 3= o e ArquTn & wieem 9 f 9 |1

SubQuestion No : 16

Q.16 fymeul & A IUYT eg BT 991 B e T (1) B gff FIfra

Ans

& 1. FTGHTST
X 2. 3T
X 3. ey
X 4. M

Question ID : 26433079177
Status : Not Answered
Chosen Option : --




Comprehension:

A1 g T Uy AT 1-5 B IR 4T T =i & 3R W o

faa=I Hrrefl a1 gaRi 1 MW ®T U A U U APHI 3R (1) ®1 I Adid
TITD & | SO HTVT § §&g Sierel ©, S99 A 1 7, AP Gait T g IR 30 i
SA-UgdT B GeTdT Iga & | 3(T=T HIST H 310 38T 8| 39 fore gH IRy o e} e
ysal, Af &1 (2) 3R THT Bt Tl e B US| gt gARY ArgUTT 71 31fenT 39
agR | g 1=t Teorar 3R YfaeT &1 St 8T 8, Sa-1 qeorar 3R gfaer o1 ary fageh
yrreif 7 7Y 8T R Ug g fb fEd) 89 W - Tk gt ovie Sieid §, 3 H gH o i H ard
I g, et (3) ST H | ST U1 &R =8 B R &1 A1z gt 8, 918 98 3
Tt e 6} 18 BY o1 e HRITRI BV 3R 51 PIs [t Hror Faa € a3t TrgHT %
T ¥ BT ST 3fd 5 it et I 3 YT ! Sierd ©, A ATGHTST § 99 § o g9 Irad
HERIEaRe) BT 31 ST S fo71 B X8 el Ibdl | T AR &M Sita & a1y
(5)____ 3159 — gy o gl e ST ¥ S aRe AIgHTT H off g W T TR, IUHT WR
3R fem 71 3ra: S/ HIwT ol g1 HiwTelt & 3reaae H 34t &1 99 $ol RIF 81 98] HRUT
8 for wft g =i & Ryam ATt 3 A1 9 < S 21

SubQuestion No : 17
Q.17 fufafed sl § & T g &1 999 B e I (2) 3t g Fifm)
Ans X 1.7 fUga
o 2. AT
X 3.yt o
X 4. T THT

Question ID : 26433079178
Status : Not Answered
Chosen Option : --

Comprehension:

1< U T Uy =T 1-5 & IR AT T TR & YR WR o

fag=T Tonaff a1 gERl Y WTWTSH B U U UGl STUFT APHINT 1R (1) &1 3 i
TITD & | U1 HIN H §&T Tierell o, THE A B1 HHdl, AP Aeft b1 w1 TR 30 Bl
SFH-UgTH &1 TR I8l & | 3O HTST & U= 8 ¢ | 39 forT g4 fa=iy &7 &t =1
gear, I B (2) 3R THY B! gafdt T Bt ued | e gan) wrguTe 81 gufe 39
FagR § g It Tgotdl SR Yo &7 el il ©, a1 Tgorarl 3R Jfaem &7 ary fae=h
Hrwraif 7 el 81Tl BRI I8 § P T 57 R — aer it 5e aad €, 2 ° &9 oo 7 | A
Traa €, fordt (3) 1o & 8T | ST UTST 8% kg I R1ef o1 Hremw Bt 8, =R 9% 9
Tt HroT Y FRrem B a1 Ha FRITRY DY | 3R GH Bl [de=t HTHT WRId & dl ST ATquTeT 3%
ey ¥ g1 9T ofd 5 fralt et it g3 wrwr Y dierd §, @ ATgHTST § 99 § o g9 Ired
g w3l e @) BT ¥ SUTT 3 f371 5 <8 e} Il | T8 AR &% Sfta & wry
(5) &1 SR — g H U il 81l § 341 dRe AIGHIST & i gART Hi T PR, IAPT AR
3R BT €1 31: 37U HINT TaTUR g1 HTIST & g H T T Tad Sall R 8| T8 SR
B o5 it v = o e ArquTT & wieem 9 f 9 g1

SubQuestion No : 18
Q.18 ezl ¥ fae wsg A o ®IF (3) F1 gfd Bifvmg)
Ans X 1. &3
o 2. fae=h
X 3.
X 4. o

Question ID : 26433079179
Status : Not Answered
Chosen Option : --




Comprehension:

I U T Uy AT 1-5 & IR AT T TR & 31UR WR o)

faa=i wraTaft a1 gERT BT HTSTST B Ug ¥ UG STU-T JAFHTST 3R (1) CARICAEGIG]
SIS § | ST HTNT H g S ©, SHY [T ST T, AP Fae 1 e SR 3o &t
SFA-Ug &) TR Igdl 21 3T HIST H 30T T8l 8 1 99 forw gH faQiy 4w =) e
g, Y B (2) 3R THY BT Faldl T8 B U | el gARY HIqHTY 71 SufoT 39%
agR § g8 fora=t TgotdT 3R Gfaer &7 e g1 8, Ia-1 Tgorar 3R Jfam &7 ary fae=h
yrraif 7 7Y 8T BRI UE & b fEd) g0 R — Srel gt e St €, 33 § g9 oo 1 | ard
T €, feelt (3) o7 H et | S | 83 kg 1 e &1 A1egw gt §, 98 98 o
Tt HToT Y 18T B a1 B BRITRY BT | TR TH Bl [de=i HTHT WRad & dl ST AU %
e B g1 ST o g frt gurt i g3 W Y Sierd §, d ATgHTST H 1§ o g9 Tad
HERIEa i) B 81 SR 3P 371 81 38 el Ibdl | T AR &M Siia & a1
(5)__ 1SR - gy H U gam S 8 I s HigHTT F ot 5HR 7 1 SRR, S R
3R frem 21 3ra: g wiwy JatuR g1 wiwral & 3reage § 5t &1 9l $ol W 21 98] HRUl
& for ol g <= & Ryam ArquTST % A1 9 < S )

SubQuestion No : 19

Q.19 fFt & FeA F qI¢ FeAr 39 AT F T ITART fHT M a6 TP g A Nad wH
(4) 3t gfd Fiforw
Ans X 1 fewmo

K 2. 3fTeRaT
X 3. deuu
o 4. 31dIq

Question ID : 26433079180
Status : Not Answered
Chosen Option : --

Comprehension:

el g U Uy AT 1-5 & IR QT T IR & YR W g

fa=IT HTTSff a1 gER Y M BT U F U S AT 3R (1) &1 34 Adid
IS g | ST HTT & g Sieid o, SU HI ST T, AP Hae 1 wed 3R 30 Y
SH-UgaM- B GRadT gl &1 ST HTST H S(U-TI I8l 8 | $9P o g4 =y 8@ et o
ysal, Ad &1 (2) 3R gHg B Fafd el B usdt | B gaRt ArguT 81 3ufere su%
FaeR | g fora ewian SR faem &1 a1y il 3, S Feoiar SR gfaem &1 ary faesh
Hrwreff 7 TEY 81Tl BRI I8 § b fEd) g7 o — aer it 5e ad €, 2 H 9 o 1 | At
Traa €, fodt (3) 1o H et | SHOrT WTST 8R TRE I e &1 Hremd Bt 8, =R 9% 9
Tt HroT Y FRrem 81 a1 Ha FRITRY B | TR GH Bl (Aot HTHT WRad & dl 3T AIqHIeT %
ey ¥ g1 39T o g ot ot i g3 v Y dierd §, @ ArgHTST § 99 § o g9 Ired
g g I @1 (4) 1T 3| SR 38 {3771 59 X5 1 Ihal | Ig §UR 3 Sftae & wry
(5) 1 SR — g H U gl 511 § S¥1 aRe AIGHIST & i §ART Hi T R, IFPT AR
3R BT €1 3rd: 3O HIST T 81 HTI3T & g § 1 &7 Tad Sall W 8| T8 SR
8 o et g =i A R ATt & wieEw @ € Sl g

SubQuestion No : 20
Q.20 fypedl § & IUYT Ueg BT 997 B ey (5) B gfd FR@
Ans g 1_%(?[_&@"1
X 2. gagd
X 3. foelt - geft
X 4. forclt - et

Question ID : 26433079181
Status : Not Answered
Chosen Option : --
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